CHAPTen -7
Practhie AP Queshse

| NoTe: “Patr (a)” s Aveva Chapler 2.

@@ At > = the deeccmd % § Ne-22,

Q—'U = the ¢ mal 766 Ne-2z2.

| firam He Petindc Table, we gee Lhat N han
6. ~maad 4{) 20.lB amu  or ZO.UD gfnoR

_THe seT-up:
Q?.qqq....)(fp) r (ata)(1-x) = 20.08 an(t)
Solve S x —
x= 0.905 =1‘20. S§o Ne-20 £ 9.s50% Ne—zz\

)

s

- Q) [2.55 4 New ;motg; L 002¢0B ke 394 x16Puke
o. lmele Ne

1.50% 4 3714 afouie: 3.5540 MO ko
2

= (3. Sla ey aduss N‘ZJ

th12(b) W= 42¢x0" s
=S . 3.00x0 M-S | (.12 ¥i6 ™
¥ “.3¢v10'" CZ |
AU w10 "m,, L0 Am B 1 66U W
o

Owswer Coufnued o Ned page



YDV= l.oo wa'? !
E=hv = (.2t v 3 )(1.00 uo'ss">

=663 x 107" JA‘“""“

o) Chomge abouve amswar 4o ch/Ma—Q

O ————————

(abBuJ‘qS e b.OZ‘&lO"}MJ* L &3 @
[ mele

phatss .3
299 kJfmsl. > 337 kT/mee ('M'ncmum erorgy
heeded. 4o breat

—Hw. O'ZOF’:C‘.S O—Obw{)
s~ JJ« plwfm i (e )G) ‘%—.‘—i breale He bisad.



